
Part-1 (General Awareness)
 (30 Questions)

 

1. Who among the following has recently been named as head Coach of Indian Cricket
team?

 
a) Virender Sehwag
b) Raul Dravid
c) Ravi Shastri
d) VVS Laxman

 

2. Who among the following fought the ‘Battle of Khidrana’?

 
a) Guru Teg Bahadur Ji
b) Banda Bahadur
c) Guru Gobind Singh Ji
d) Maharaja Ranjit Singh

 

3. Union government has set up a panel to identify legal and regulatory challenges faced
by Indian Nationals in addressing NRI marriage issues and suggest amendments to
existing acts as new policies/laws. Who among the following heads this panel?

 
a) Justice A.K. Mittal
b) Justice Arvind Kumar Goel



c) Justice S S Saron
d) Justice Kuldip Singh

 

4. Match the following:-

 
A. Arundhati Bhatta charya (i) SBI
B. Chanda Kochar (ii) Bicon
C. Kiran Mazumdar Shaw (iii) Axis Bank
D. Shikha Sharma (iv) ICICI

 
      A   B    C   D

a)  (i) (iv)  (ii)  (iii)
b) (iii) (iv) (ii)  (i)
c) (iii) (ii)  (iv)  (i)
d) (i)  (ii)  (iv)  (iii)

 

5. Which of the following Taxes are impacted by introduction of GST?

 
1. Corporate Tax
2. Service Tax
3. Octroi and Entry Tax

 
Select the correct answer using the code given below:

 



a) 1 and 2
b) 1 only
c) 2 and 3
d) 1, 2 and 3 

 
6. Indus Valley civilization belongs to which period?

 
a) Neolithic Age
b) Late Stone Age
c) Bronze Age
d) Copper Age

 

7. A is two times more efficient than B. If they complete a work in30 days, find the time
required by each to complete the work individually.

 
a)     A- 40 days

        B- 120 days
b)     A- 120 days

        B- 40 days
c)     A- 45 days

        B- 90 days
d)     A- 30 days

        B- 60 days

 

8. A train covers 180km distance in 4 hours. Another train covers the same distance in 1
hour less. What is the difference in the distance covered by these trains in one hour?



 
a) 45 km
b) 9 km
c) 40 km
d) None of these

 

9. Which among the following is not a Kharif crop?

 
a) Jowar
b) Wheat
c) Maize
d) Groundnut

 

10. Pravasi Bharatiya Divas is celebrated on:

 
a) 9 January
b) 10 January
c) 11 January
d) 12 January

 

11. Which of the following is a non metal that remains liquid at room temperature?

 
a) Phosphorus
b) Bromine



c) Chlorine
d) Helium

 
12. Introducing a boy, a girl said, “He is the son of the daughter of the father of my uncle”.
How is the boy related to the girl?

 
a) Nephew
b) Uncle
c) Son-in-law
d) None of the above

 

13. Where is Chabahar port located?

 
a) Pakistan
b) Iran
c) Afghanistan
d) India

 

14. The Supreme Court of India tenders advise to the President on matter of law or fact

 
a) On its own initiative
b) Only if he seeks such advice
c) Only if the matter relates to the fundamental rights of citizens
d) Only if the issue poses a threat to the unity and integrity of the country



 

15. The resolution of removing the Vice-President can be moved in the

 
a) Lok Sabha
b) Either House of Parliament
c) Joint sitting of Parliament
d) Rajya Sabha

 

16. The power to enlarge the jurisdiction of the Supreme Court of India with respect to any
matter included in the Union List of legislative power rest with

 
a) The President of India
b) The Chief Justice of India
c) The Parliament
d) The Union Ministry of Law, Justice and Company Affairs

 

17. Which one of the following bills must be passed by each House of the Indian Parliament
separately, by special majority?

 
a) Ordinary Bill
b) Money Bill
c) Constitutional Amendment Bill
d) All of the above 

 



24. If 10 persons can clean 10 floors by 10 mops in 10 days, in how many days can 8 persons
 clean 8 floor by8 mop:

 
a) 10 days
b) 8 days
c) 80 days
d) 12.5 days

 

25.��� ���� ������� �� ��� ����:-

 
         ��� �� ���� �����

 
(a) �� ���� ��� �� ������ ����

 
(b) ������ ���� ����

 
(c) ������ ������

 
(d) ������� ����

 

26. Choose the incorrect option:

 

25.ਹੇਠ ਲਿਖੇ ਮੁਹਾਵਰੇ ਦਾ ਅਰਥ ਦੱਸੋ:-

         ਘਿਉ ਦੇ ਦੀਵੇ ਬਾਲਣਾ

(a) ਘਰ ਵਿੱਚ ਘਿਉ ਦੀ ਬਹੁਤਾਤ ਹੋਣੀ

(b) ਖੁਲ੍ਹਾ ਖਰਚਾ ਕਰਨਾ

(c) ਖੁਸ਼ੀਆਂ ਮਨਾਉਣਾ

(d) ਬੇਫਿਕਰੇ ਹੋਣਾ



    Singular        Plural
a)   Ox               Oxen
b)   Half             Halves
c)  Mouse          Mouses
d)  Goose          Geese

 

27. If n and p are both odd numbers, which of the following numbers must be an even
 number?

 

a) n + p
b) np
c) np + 2
d) n+ p+ 1

 

28. A man starts from a point and moves 3 km North, then turns to West and goes 2 km. He
 turns North and walks 1 km and then moves 5 km towards East. How far is he from
 starting point?

 

 a) 11 km
 b) 5 km
 c) 10 km
 d) 8 km

 



29. Choose the incorrect match:
National Park States

 

a) Keoladeo Ghana Rajasthan
b) Kanha M.P.
c) Harike Haryana
d) Gir Gujarat 

 
30. In which of the following states, the Chilika lake is situated:

 

a) Orissa
b) Andhra Pradesh
c) Tamil Nadu
d) Punjab 


